7-2 BC Calc (1_15_15).notebook January 16, 2015

t (sec) 0121416

a(f) (f'sec®) | 5] 2|8 |3

The data for the acceleration a(f) of a car from 0 to 6 seconds are given in the table above. If the
velocity at # =0 1s 11 feet per second, the approximate value of the velocity at /=6, computed
using a left-hand Riemann sum with three subintervals of equal length, 1s

(A) 26 ft/sec (B) 30 ft/'sec (C) 37 ft/sec (D) 39ft/sec (E) 41 ft/sec
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7-2 Areas in the Plane

Learning Targets

| can find the area between two
curve (integrating with respect to
both x and y).
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Area Between Curves

If f and g are continuous with /(x) 2

. L FE g

g(Xthroughout
[a,b], then the area between the curves y=f(x) and y=g
(x) fromatobis
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Ex1. Find the area of the region between
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Ex2. Find the area of the region enclosed by
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Ex3. Find the area of the shaded region.
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Ex5. Find the area of the re

ion enclosed by the

|x=y“2+siny—&

nest intersecl ton maik point |
»=1.32130
¥ = 230680
2=1.97290

save ||w  wlas|n W close

[” intersection angle z in degrees

save masm close

™ intersection angle 2 in degrees
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10.4976141
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50-55

Homework

p. 395 #1-10, 13, 18, 20, 24, 28, 35, 37/, 39,
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